11/14/2008

FLOOR PLAN DATA

FRAME DESIG.
CALL CENTER MGMT. INFORMATION SYS. CCMIS
CHANNEL BANK BAY CBB
CENTRAL CONTROL COMPLEX CcCC
DIGITAL CARRIER EQUIFMENT DCE
DIGITAL NETWORK INTERCONNECTING DNI
DNl — COMBINED DNIC
DUAL SHELF NETWORK EQUIPMENT DSNE
DIGITAL SIGNAL CROSS—CONNECT DSX
DIGITAL TRUNK EQUIPMENT DTE
DIGITAL TRUNK EQUIPMENT (ISDN) DTEI
GATEKEEPER GK
GROUP CONTROLLER EQUIPMENT GCE
INPUT /OUTPUT EQUIPMENT IOE
LINE CONCENTRATING EQUIPMENT LCE
LINE GROUP EQUIPMENT LGE
LINE MODULE LM
LINE TRUNK EQUIPMENT LTE
MAINTENANCE ADMIN. POSITION MAP
MAIN DISTRIBUTION FRAME MDF
MEMORY EXTENSION MEX
MISCELLANEOUS MIS
MAINTENANCE SPARE STORAGE MSS
MAGNETIC TAPE CENTER MTC
NE TWORK NET
NETWORK — COMBINED NETC
POWER DISTRIBUTION CENTER PDC
SPEECH LINK CONNECTOR SLC
TRUNK MODULE EQUIPMENT TME

FLOOR PLAN DATA

FRAME DESIG. WEIGHT (LBS) | BTU/HR AMPS
DUAL PLANE COMBINED CORE DPCC 1600 11946 88A
MERIDIAN CABINETIZED NETWORK INTERFACE MCNI 1600 14198 80A
MERIDIAN CABINET SPARE STORAGE MCSS 514 - -
MERIDIAN MAIL GP MMGP 838 4792 27A
MERIDIAN CABINET AUXILIARY MODULE 3 MCAM3 700 2485 14A
DUAL PLANE COMBINE XA—CORE CABINET DPCX 1600 15187 93A
CABINET LINE CONCENTRATING EQUIPMENT CLCE 820 1983 12A
CABINETIZED MISC. SPARE STORAGE CMSS 550 - -

SHEE!I

T-5104-01

EST. NO. | REV LTR REVISION ENG | DRAFTED| APPD DATE
SX BAYS.

06303 A éﬁffgcggﬁwikD BAYS. REVISED EQPT IN ZONE CO3 R OKON W 3/1 /85

J55023-0 B ADDED LGE-02 & LCE—06. RENUMBERED CBB'S. JCF MJJ MLP | 10/5/86

J55023—0 C REVISED PER AS—BUILT. MLP OKON MAC | 6/15/88

HeCana RELOCATED MSS—00 & 01. ADDED DPCC—00, MCSS—00

D IOE-01, AND PDC-01. BAB BAB MAC | 10/29/93

HEC987 ADDED LCE—08, LCE—09, LGE—03, AND DSNE—02/—.

HOY994 F ADDED ENC 00, DTEI 01. RELOCATED MSS 00, MCSS 00. BAB BAB MAC | 3/29/96
ADDED MMGP 00 & CHANGED LAYOUT OF ROOM IT WILL

H22392 F BE INSTALLED IN PER CUSTOMER INFORMATION. WG WG cCB 2/11/00
ADDED LCE—010 TO POS. BO2, REPLACING

HB82291 G DE—COMMISSIONED NETC FRAME. JE JEJ JAM 5/3/01
ADDED GK—00. ADDED LTEI-00 TO POS. BO3,

H82290 H REPLACING DE—COMMISSIONED SLC FRAME. JE ASE JAM 7/9/01

H97519 J REVISED PER CUSTOMER INFO. ADDED CCMIS—00. JE JEJ FGG 12/3,/01

H4E050 K ADDED MCNI 00 JRK JRK BJ 5/24/03

H4E050 12 CONVERTED TO NORTEL STANDARDS COM NA NA 2/17/05

26.15" |
1" DOOR 4 REAR i 1 DOOR:L_! | REAR I
——0.00 —0.00
T® ‘?‘10.63 T ®I ADLE HOLE |®_¥o.63

0

ALIGN THIS LINE TO

g MSL

4.38

P P P
g_ 9.50 ALIGN THIS LINE TO g g“‘—‘g-“
1.25 DIA. EDGE OF COMPUTER TILE MPDC 1.25 DIA.

4.38

EDGE OF COMPUTER TILE P LE NCHOR
(F APPLICABLE) CABINET v (F APPLICABLE) CABINET ok
o ¢ gép = 21.25 o ¢ ﬁ g2
l ——23.00 | —23.00
4 ! —26.00 4| —26.00
" boorJ FRONT e FRONT
45"
239"
28.4"
Wre ~ © <
0 3¥3s o N o @
§ ,“3¢-}'§§ S8 5833 - 3" |-4.52
0.5~ 1.5
1" DOOR ]_\ I | REAR l | / 1. ﬂ !
T T T T -
—0.00 i —
T ‘51 cAsL I I dasle ": F F
HOLE holle N CABLE CABLE
4.50 .5 HOLE HOLE
P P . .
@ o1 1025 b
S Vs 1.75 IPEC aifl w
1.75 DIA? 8V} o
TS C42 CABINET H—1—19.25
&, —p— 2075
® P 4 ——23.00 Ed)— -495 —L
4 —— 26,00 FRONT 1:3'
" boorJ FRONT l ‘ ’
27.5"
2" | | 2"
31.5*

DE TAIL T

AND NON—-EARTHQUAKE APPLICATIONS, AS REQUIRED.

P — INDICATES PRIMARY ANCHOR LOCATION FOR EARTHQUAKE

F — INDICATES LOCATION OF LEVELING FEET. ON MSL, MPDC,

AND C42 CABINETS, FEET ARE CENTERED 1" OFF CORNER.
DO NOT USE LEVELING FEET WHEN ANCHORS ARE USED.

(USE NTI SUPPLIED TEMPLATE TO POSITION CABLE HOLES ON
COMPUTER FLOOR TILES FOR MSL, MPDC, AND C42 CABINETS)

NOTES:

1.

16.

CEILING HEIGHT —

DROPPED CEILING HEIGHT —
HEIGHT UNDER BEAMS —

HEIGHT UNDER COMPUTER FLOOR —

DMS FRAME SIZE — 18” DEEP x 27" WIDE x 7'=0" HIGH.
DIMENSION BETWEEN FRAMES IS 1/16” UNLESS OTHERWISE SPECIFIED.

FRAME FRONTS ARE DENOTED BY A SOLID HEAVY LINE.
DASHED EQUIPMENT LINES DENOTE FUTURE GROWTH.
AAP — DENOTES AUDIBLE ALARM PANEL.

ACDP — DENOTES ALARM CONTROL & DISPLAY PANEL.
ADP — DENOTES ALARM DISPLAY PANEL.

EAP — DENOTES EXIT ALARM PANEL.

«5U — DENOTES KEY SERVICE UNIT.

NTPP — DENOTES NON—TECHNICAL POWER PANEL.

TPP — DENOTES TECHNICAL POWER PANEL.

[] — DENOTES POWER POLE.
—+—+ — DENOTES MASTER GROUND BAR (MGB).

METHOD FOR ANCHORING STAND—ALONE SL CUSTOM FRAME:
[€] o

o o

METHOD FOR ANCHORING LINE OF SL CUSTOM FRAMES:
(e] o (o] [¢] [€) [¢] (e]

Q Q o o [¢] o o

ZZEZE — DENOTES CROSS AISLE CABLE TROUGH.

IRRRRRE!
IEEEEEh — DENOTES FILTER BULKHEAD.
(EEEEEE

ABOVE CEILING JUNCTION BOX EQUIPPED WITH 2—-15A 120 VAC CIRCUITS.

NTI SPEC:

NTI SPEC:  NA

TEO#:

CONTROL GROUP#:  NA
DRAWINGS HAVE BEEN
CONVERTED TO AUTOCAD
20001 IN A SINGLE FILE
MULTIPLE LAYOUT
FORMAT. REVISION ISSUE
NUMBERS ARE THE SAME
FOR ALL DRAWINGS

DATE: 2/17,/2005

coM | NA NA 12

NTI SPEC:
TEO#:
CONTROL GROUP#: D
ADDED IPEC 00 AT A 07
AND CALL PILOT NEXT TO
MMGP.

DATE: 2,/28/2005

H4N721

pMc | Bw | NSTR | 13

NTI SPEC:
TEO#:  N/A
CONTROL GROUP#: D
ADDED 2ND MOD. &
BLOCKS FOR IPEC 11
AND CABLE RK FROM
IPEC 11 TO MDF.

DATE: 2/10,/2006

H45922

T Lot | vt | 14

NTI SPEC:
TEO#:  N/A
CONTROL GROUP#: D
ADDED MCAM 00 @ POS
E0QO, PXAC 00 @ POS AA
04 AND MOVE MCSS 00
FROM POS AA 04 TO
EO2.

DATE: 3/24 /2006

H4S366

JLT | oot | ome | 15

NTI SPEC:
TEO#:  N/A
CONTROL GROUP#: D
ADDED CLCE 12 @ POS
EOT AND CMSS 00 @
POS AAO4

DATE: 3/24/2006

H45394

JLT oot | ome | 16

NTI SPEC:
TEO#:  TBD
CONTROL GROUP#: D
ADD CSF 00

COAM 00, PT2K 00
SPME 00 AND SPDC 0O

DATE: 11/13/2008

HSEOS8

MGF | MGF | 2401 | 17

@ S ISSUE

17
TSCLALAUCGO ?Sﬁ&i1,_on
FLOOR PLAN o 2 4 6 8
HIRST FLOOK nnnnnnnn

MSL—100 CABINET
UNIVERSITY OF ALABAMA

415 Hackberry Lane
TUSCALOOSA, AL

SCALE IN FEET

T-S104-01

NCRTEL 5

SHEETS

2

NETW@RKS

SHEET DSS




11/14/2008

SHEET

T-S104-01

EMAP Terminal

8’ CEILING

12" CEILING

c(les
l0o

38'—6 1/2”

9’_—10”

N i

BATTERY

©
[

EY

E wasH Q

] 51_{3)!

T
|

|
A/C RQTURN

|
i

34’—-10"
165262
et
O K
MAP 00 N ( 5
00 -
o Y
i i 2
P860 Line up the front i
00 00 00 00 of SPME 00 with the front g%
of MCNI 00 H1 ca ’ ”
26'-5" _
SP F BOAM  PT2K =5 >
o 00 \10Ie 04 0O 06 0/ 08 <=
-1 /27 . . [BELL BIX BLOCKS 1
SPM o FIBER
/4 &‘N [ ‘
N .
s " e e o -
L - S/DMS
6" \‘T NODE
s » ) ” 3’_1” I
3 -0 || 3 —6 N I E|
2 CALL
T PILOT
™~ X O
<:> MIS MIS MisS 10E TME 10E DTEI MSS [ ©o
00 01 -~ <o 00 000 01 01 00 R -
/ { P fl\l
, o ~
¥ /
<:> TME TME LCE | LTEI LCE MSS LCE | LGEI N ;
001 002 010 000 0-00 01 009 003 © f s [6'—4" FROM FLOOR
/ — = —— LIFT OUT CEILING IN THIS/ ROOM 1S 7'=10” ABOVE FLOOR
/ —— ——— CUSTOMER TO PROVIDE DUCT OR FLEX CONDUIT FOR CABLES TO THE CALL PILOT
— — — = — — FROM THE POWER BOARD AND IPEC 00
O PDC DTE MISS LCE | LGE TME LCE LCE |
00 000 GeTe 0 001 000 003 007 008 ;
SE= 555/555 53"
<:> TME LCE LCE LCE LCE LGE LGE LCE PDC
004 002 003 004 005 001 002 006 01
o Z =9
N Jep o HE
| - ” 1
‘~ | E E Location for VPN ter
. MIS DSX MIS Terminal Server
~ MCAM | CLCE | MCSS C%fg o T o0 ] D Server
I |
= 00 12 00 H30 :
~ e
N Moved from line—up AA
e ©
R PWR | RECT | RECT | |
N BD 1 2 ™~ !
400 AMP 400 AMP 12 CEILING
GND BAR
[ Pwr PanEL | [AaP]
2’_0” 2’_0” | r

DRWG
ISS

12

13

14

15

16

17

ISSUE

17

TUSCALOOSA,

FLOOR PLAN
FIRST FLOOR
MSL—100 CABINET
UNIVERSITY OF ALABAMA
415 Hackberry Lane

AL

T-S104-01

NERTEL
NETW@RKS

SHEETS

2

SHEET

2

DSS




2/17/2005

SHEET

T-S104-01-050

EST. NO. | REV LTR REVISION ENG | DRAFTED| APPD DATE NTI SPEC:
G06303 A ADDED G, H, & J3-12. JRW OKON JRW 3/1/85
J55023—0 B ADDED BLOCKS FOR LCE—O06. JCF YRY MLP | 10/5/86
J55023—0 C REVISED PER AS—BUILT. ADDED BLOCKS FOR LCE—07. MLP OKON MAC | 6/8/84 #‘gé)#SPECi NA
HECO87 D ADDED BLOCKS FOR LCE—08 & 09. BAB BAB MAC | 11/19/93 CONTROL GROUP#:  NA
DRAWINGS HAVE BEEN
CONVERTED TO AUTOCAD
H8Z291 ADDED BLOCKS FOR LCE—10. JEJ JEJ JAM 5/3/01
= /3/ 20001 IN A SINGLE FILE
MULTIPLE LAYOUT
H4E050 6 CONVERTED TO NORTEL STANDARDS COM NA NA 2/17/05 FORMAT. REVISION ISSUE
NUMBERS ARE THE SAME
HGIS —‘\V/O‘ic\jﬂ/\ FOR ALL DRAWINGS
DATE: 2/17/2005
COM | NA NA 6
NTI SPEC: H4S922
L ¢ ¢ 14 g 9 9] ¢} Ol Ll ¢l ¢l vl Gl 9l Ll g1l ol 0c¢ LC ¢¢ ¢c Ve °r4 9¢ LC 8¢ Y4 0¢ TEO#:  N/A
CONTROL GROUP#: D
ADDED BLOCKS TO
IPEC—11 @ POS AAO07
DATE: 2/7,/2006
JLT | uLT | Lt 7
NTI SPEC: H4S394
TEO#: N/A
CONTROL GROUP#: D
ADDED SIX 12X32C CLCE
BLOCKS TO POS G18
THRU G23.
DATE: 3/28/2006
JLT | T | LT 8
NTI SPEC: HS5EQ058
TEO#:  N/A
CONTROL GROUP#: D
ADDED 10X30WW BLOCK
TO POSITION F29 FOR
ALARMS
DATE: 3/17,/2009
LC | 6D | ML o
\”Sgglx?r?gionea%ft / N\ S374v2 ¥3SI¥ ONICTINg /
—————— MISC. ¥ CHANNEL BANKS ¥ CHANNEL BANKS N
K
10 x 30C 10 x 30C 0x 30 CBB-000 ~/ CBB-003 \/ CBB-006 —
BSAC MAP | CBB/ALM |0A  O0B|1A 1B |2A 0A 0B|1a  1B|2A 0A 0B|1A 1B |2A J
1-24 1-24 " 1-24 1-24 " 1-12 1-24 1-24 " 1-24 1-24 " 1-12 1-24 1-24 " 1-24 1-24 " 1-12
0 x e 10 x 30c ——— CBB-001 Y, CBB 004 ——
MTA/KSU MODEM 0A 0B | 1A 1B [ 2A 0A 0B | 1A 1B | 2A H
1-24 1-24 " 1-24 1-24 " 1-12 1-24 1-24 1-24 1-24 " 1-12
IPEC-11 CLCE 11
10 x 30C 10 x 30C —— CBB 002 V CBB 005 ———— / IPE 11-1 \ / \
MTM-SD | MTM-SC 0A 0B[tA  1B|eA 0A O0B|1A  1B|2A A D|E H |k N R U 0 3|4 718 112 15|16 19|20 23 G
1-24 1-24 1-24 1-24 " 1-12 1-24 1-24 1-24 1-24 " 1-12
10 x 30C 10 x 30C 10 x 30Ww
TM8 0 | ALARM ALARM F
8X32C 8X32C 8X32C LEX:‘IEC 8X32C 8X32C
/ LEM 0020 V LEME 022, \ LEM 0320 \V LEM 0280 \ LEM 0850 \ Len18% \
0 314 718 1 {12 15 |16 19 {0 4 718 11112 15|16 1910 314 718 1112 1516 19 |0 3|4 718 11112 15 |16 1910 314 718 11 )12 15116 1910 314 718 11112 15116 19 E
8X32C 8X32C 8X32C LgXE3286 8X32C L%XEE(iO
/ LEFF 0021 V e 0851 \ e 03ty V LCM 06-1 \ LE 0821 \V LCM 10-1 \
0 314 718 11|12 1516 1910 4 718 11112 15 |16 19 {0 314 718 1112 15 {16 1910 314 718 11112 15 {16 19 {0 314 718 11112 15|16 1910 314 718 11112 15116 19 D
8X32C 8X32C 8X32C LEXE3807 8X32C
/ LeM oo \V4 LEM 0330 \/ Len 0320 \4 LeM 0970 \ LEM 0920 \
0 3|4 718 1112 15 |16 1910 4 718 11112 15 |16 1910 314 718 1 112 15 |16 19 |0 314 718 1112 15 |16 19 |0 314 718 11 |12 15 {16 19
C @ S ISSUE
8X32C 8X32C 8X32C 8X32C 8X32C
/ LEM 0151 V LEM 0321 \/ LENF 0321 Vi LEN 0971 \/ LCH 0921 \ 9
TSCLALAUCGO SCALE
0 314 718 11]12 15116 1910 4 718 1112 15 |16 1910 314 718 11 )12 15 |16 19 |0 34 718 1112 15|16 1910 314 718 11 |12 15|16 19 B 1/4 =1-0
MDF LAYOUT 0 2 4 6 8
A FIRST FLOOR nannnnnn
SL—100 CUSTOM (EMI) SCALE IN FEET
- UNIVERSITY OF ALABAMA
Line Blocks 2 %) 4 5 / 3 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 T-S104-01-050
LCE XX - LINE BAY

LCM XX-X - LINE MODULE

0 3| - LSG

HORIZONTAL SIDE

TUSCALOOSA, AL
NERTEL S
NETWORKS 1

SHEET DSS

1




11/14/2008

EST. NO. | REV LTR REVISION ENG DRAFTED | APPD DATE

G06303 A ADDED CBB & DSX BAYS. REVISED EQPT IN ZONE CO3. JW OKON JW 3/1/85
ENLARGED MDF.

J65023-0 B ADDED LGE 02 & LCE 06. JCF JOPLIN MLP 10/5/86

J55023-0 C REV. PER AS—BUILT. MLP OKON MAC 6/15/88

HEC424 D ADDED CABLE RACK OVER DPCC 00 & MISC. CHANGES BAB BAB MAC 10/29 /93
PER ENGINEERING SITE SURVEY.

H9C994 E REMOVED AND MODIFIED CABLE RACK OVER LINE-UP AA. BAB BAB MAC 3/29/96

H9C994 F ADDED CA RK OVER LINE-UP AA & RELOCATED ENC BAB BJB MAC 8,/26,/96
POWER END CAP, PER AS—BUILT.

TABI_E A H4E050 12 CONVERTED TO NORTEL STANDARDS COM NA NA 2/17 /05

CABLE RACK AND AUXILIARY FRAMING DATA

DESIC.

FIGURE

LETTER NUMBER MANUFACTURER DESCRHTHON
A 2016 NEWTON CLOSING END CLAMP
B 2038 NEWTON J—BOLT ASSEMBLY
C 2042 NEWTON WALL ANGLE FASTENING
SECONDARY POWER DISTRIBUTION CENTER (SPDC) TABLE D 2085-2 NEWTON END CLOSING BAR 6”7
SPDC—00 CONTROL GROUP—00 E 2085-8 NEWTON END CLOSING BAR 18”
SEC. BREAKER PANEL(SBP)SEC. BREAKER PANEL(SBP)SEC. BREAKER PANEL(SBP) _ ”
LOGATION: TOp LOGATION- MIDDLE LOGATION: BOTTOM F 2085—-11 NEWTON END CLOSING BAR 24 \
CIRCUIT BREAKER OR FUSE ARE FEED BY PDB—00 G | 2094 NEWTON TUBULAR COUPLING
SIZE: N/A SIZE: N/A SIZE: 400 H 3014—8 NEWTON 5/8”—11 HEX NUT
TYPE: BREAKER TYPE: BREAKER TYPE: BREAKER -
FRAME TYPE FRAME TYPE FRAME TYPE J 3015-8 NEWTON 5/8" LOCK WASHER
CSF—00 K 3016-8 NEWTON 5/8" FLAT WASHER
COAM—-00 ‘
PS2K(860)—00 L 3018—10 NEWTON 5/8" EXPANSION SHIALD
W _SPME—00 M| 3022-10 NEWTON 5/8"—11 THREADED ROD
N 3033—2 NEWTON WALL ANGLE '
P B—225 NEWTON STEEL CHANNEL
R B—4683—-2 NEWTON CABLE RACK 6"
T B—4683-8 NEWTON CABLE RACK 18”
U B—4683—11 NEWTON CABLE RACK 24”7 ‘
» ” ' DETAIL C1 — RACK SUPPORTED WITH 2" PIPE STAND (GRAY, SLAB)
v N225 B-LINE TITE GRIP™ LOCK NUTSi TEM | QTY cPC DESCRIPTION DETAIL
T, 02" cl
W | SB-310-B—K SB ANGLED DROP ROD BRACKET T2 [ A0s4501 | NEWTON 10311 GRAY 2°23/"43" AUX FRAVING BAR &
X | 2106 NEWTON 5” POWER CABLE BRACKET T Forsoris NEWTON 50254, /8" 1so%" TRERDED ROD o
- 5 2 | A0355208 | NEWTON 2063, CLIP "J° BOLT 1
CURRENT DRAIN: 3.04 AMP|CURRENT DRAIN: 3.04 AMP|CURRENT DRAIN: 60.88 AMP Y SB—160-D SAUNDERS BROS. | ADJUSTABLE STRINGER CONNECTOR 5 1| A0319057 | NEWTON 4019, 3/8” EXP_SHIELD ANCHOR (4) cl
TOTAL TYPICAL CURRENT DRAIN: 66.96  AMPS 7 SB—2110—A SAUNDERS BROS. | ADJUSTABLE RUNWAY KIT
PANELS STRAPPED: Yes PANELS STRAPPED: Yes AA 2003— 21 NEWTON CABLE RACK, 127 !
AB 2004—14 NEWTON CABLE RACK PAN. 127 [[Z” CABLE RACK (SEE SHEET 2 FOR HEIGHT)
AC 1021—4 NEWTON AUX FRAMING BAR, 27 >{ 3/8"
AD 3014—-6 NEWTON 3/8"—=16 HEXAGON NUT
AE | 1058 NEWTON AUX BAR END CAP [EM. 5
AF 3016—6 NEWTON WASHER, 3/8"
AG 3020-4 NEWTON 3/8”—16 THREADED ROD, 24~
AH 3063—-2 NEWTON INSULATOR,'LS"XS/S”—16 e
FLOOR
%i‘;lf;‘f;f' SLAB FLOOR
DETAIL A1 — SUPPORTING AUX FRAMING ABOVE MSL OR C42 CABWEH_(GRAY> AR
ITEM_ | QTY cPC DESCRIPTION DETAIL
i 1| A0369266 | NEWTON B—9354, GRAY 6 CABINET CABLE RACK SUPPORT Al
2 2 | AO314994 | NEWTON 1021—1, GRAY 2'x3/8'x2 AUX FRAMING BAR Al
3 2 | A0383610 | NEWTON 1058, AUX BAR RUBBER END CAP (2) Al
7 2 | P0720715 | NEWTON 30224, 5/8"—11x24" THREADED ROD Al ‘ Y
5 2| A0355210 | NEWTON 1025, AUX FRAMING CLIP Al DETAIL D3 — VERTICAL 12”7 SUSPENDED CABLE RACK (GRAY)
6 2 AQ0355208 | NEWTON 2063, CLIP "J" BOLT A1 ITEM | QTY CcPC DESCRIPTION DETAIL
7 2 P0205261 | FEDERAL 5/8"—11 HEX NUT Al 1 1 B0258359 | SAUNDERS BROS SB-2111-B, 90 DEG ADJ TURN 1 SIDE (2, SEISMIC) D3
2 2 | A0370123 | SAUNDERS BROS SB—310-B—K, ANGLED DROP ROD BRACKET KIT D3
3 1| C0056713 | NEWTON 2047, CABLE RACK SUPPORT BRACKET (2) D3
4 2 | P0719828 | NEWTON 3012—11, 5/8"—11x3.5" HEX HEAD CAP SCREW D3
5 1| P0069107 | NEWTON 3022-10, 5/8"—11x60" THREADED ROD D3
6 1| AD319004 | NEWTON 2003—17, GRAY 6” TUBULAR RACK D3
[CABLE RACK (SEE SHEET 2 FOR HEIGHT) 7 | 0.2 | AD369283 | SAUNDERS BROS SB—21-B, 3/8°x1.5" BLACK END CAPS (10) 03
8 2 | P0719630 | NEWTON 3016-8, 5/8 FLAT WASHER D3
9 4 | P0205261 | FEDERAL 5/8°—11 HEX NUT D3

1. CEILING HEIGHT —
DROPPED CEILING HEIGHT — VARIES
HEIGHT UNDER BEAMS —
HEIGHT UNDER A/C DUCTS -

2. DIMENSIONS ENCLOSED IN PARENTHESIS ( ) INDICATE
HEIGHT OF CABLE RACK FROM FLOOR TO CABLING LEVEL,
OR HEIGHT OF AUXILIARY FRAMING TO BOTTOM OF CHANNEL
FROM THE FLOOR.

3. — — DENOTES LOW TYPE AUX. FRMG.
4. —— — DENOTES CEILING MOUNTED UNISTRUT.

— DENOTES HANGER ROD FOR SUPPORTING AUX. FRMG.
OR CABLE RACK FROM CEILING INSERT.

DENOTES HANGER ROD FOR SUPPORTING AUX. FRMG.
OR CABLE RACK FROM UNISTRUT.

O Qo X

— DENOTES HANGER ROD FOR SUPPORTING CABLE
RACK OR AUXILIARY FRAMING.

8. —e— — DENOTES CABLE RACK SUPPORT STANCHION.

9. IT IS UNDERSTOOD THAT ALL CUSTOM SL/DMS FRAMES AND

FRAME GAPS ARE EQUIPPED WITH AN OVER FRAME CABLE TROUGH,

AND IS NOT REPRESENTED ON THIS DRAWING.

10. g — DENOTES ELEVATION CHANGE IN CABLE RACK.

N
-
|

DENOTES CABLE RACK "T" JUNCTION. (SEISMIC)

A
Lo
|

o
|

DENOTES WALL SUPPORT FOR CABLE RACK.

ﬁ

DENOTES CABLE RACK BRACING PER ED1242-71.

?

16. NUMBERS ENCLOSED IN BRACKETS [ ] REFER TO CABLE RACK
FABRICATION FIGURES PER ED1242-71.

DENOTES CABLE RACK "T" JUNCTION. (STANDARD)

DENOTES AUXILIARY FRAMING BRACING PER ED1241-73.

17. NUMBERS SHOWN UNDERLINED REFER TO CABLE RACK FABRICATION

FIGURES PER ED1241-72.

18. ALL AUX. FRAMING GROUPS ARE PER ED1241-73 UNLESS OTHERWISE

SPECIFIED.

19. ALL CABLE RACH3 DESIGNATED "L”

ARE LADDER TYPE CABLE RACKS.

20. NUMERICAL PREFIX SHOWN ADJACENT TO LADDER TYPE CABLE RACK

INDICATES WIDTH OF CABLE RACK.

NTI SPEC:

NTI SPEC:  NA
TEO#:

CONTROL GROUP#:  NA
DRAWINGS HAVE BEEN
CONVERTED TO AUTOCAD
20001 IN A SINGLE FILE
MULTIPLE LAYOUT
FORMAT. REVISION ISSUE
NUMBERS ARE THE SAME
FOR ALL DRAWINGS

DATE: 2/17,/2005

COM NA NA

12

NTI SPEC:
TEO#:
CONTROL GROUP#: D
ADDED IPEC OO0 AT A 07
AND CALL PILOT NEXT TO
MMGP.

DATE: 2/28/2005

H4N721

pMc | Bw | NSTR| 13
NTI SPEC: H4S922
TEO#:  N/A

CONTROL GROUP#: D

ADDED 2ND MOD. &
BLOCKS FOR IPEC 11
AND CABLE RK FROM
IPEC 11 TO MDF.

DATE: 2/10,/2006

JT | Jr | ome | 14
NTI SPEC: H4S366
TEO#:  N/A

CONTROL GROUP#: D

ADDED MCAM 00 @ POS
E00, PXAC 00 @ POS AA
04 AND MOVE MCSS 00
FROM PCS AA 04 TO
EO2.

DATE: 3/24/2006

Jar | oot | ome | 15
NTI SPEC: H4S394
TEO#:  N/A

CONTROL GROUP#: D

ADDED CLCE 11 @ POS
EO1 AND CMSS 00 @
POS AAQ4.

DATE: 3,/24/2006

JLT JLT IML

16

NTI SPEC:
TEO#:  TBD
CONTROL GROUP#: D
ADD CSF 00

COAM 00, PT2K 00
SPME 00 AND SPDC 00

DATE: 11/13/2008

HS5EO058

MGF MGF | 2401

17

ISSUE

=

& 17
T ™ CABINET SIDE VIEW TSCLALAUCGO ?Sﬁ&i1,_oﬂ
92] .
AUXILIARY FRAMING AND CABLE RACK PLAN o 2 4 & 8
i
=) IRST FLOOR Nnnnnnnn
O MSL—100 CABINET SCALE IN FEET
CHJ UNIVERSITY OF ALABAMA
i T-S104-01-601
< 415 Hackberry Lane
53 TUSCALOOSA, AL SHEET oS
SHEETS
o NERTEL o |5 4
o NETWORKS




11/14/2008

| brwG
ISS
12
13
14
15
16
12" CEILING
100 101 | 17
|
cms
T 2RI |
5 16
8 CEILING
5
O %
PTR
MAA 00
a0 ’gé’
@
| ' ‘ . ~— Double Tier Rack. Bottom (signal) Height 7°8” .
sio o) | 0] o] 0] Top (power)m Height 87" Ogl:
A100 BB | | | Z ==
: ' : - HI
PWR 0T i Rack Height 7'8”
s 0 |0l ce/@@ 04 05 06 07 08 bt
otleopnt-to | £
H [ 1
AA 1| [ior|calre 778 HSTCARK q]—" ] ] # He
[T n 10
< 12" Gray Rack 1 1/2 stringer | |
> height 8'7”
et 1o %
| 1
A ¢ )
< —J | |
i S 7
E END CAP) |
3‘,/26—"_ ©
/’?j 2 Q Q
p i
Customer Provided and :Dr’e’ CARK ¥o-1" AFFD 4 o o ! S._D !
Installed Rack Ceiling Supports QN ¢ P e %5
Rack Height 8'7” ! L | ! >
O | 3 9/_6” A'F) |
‘% LN
I @ Q [0 )
| |
%%L
END GAP | | |
I |
D D | 0 © 0 O -0
n L - 1o l 18" CA RK (9'-1" |AFFD
X ! | i I
® 3 ) ) o O
|
MCSS | CMSS |
- il IR —— . .
|
- - - - - - - - - / & ol
~ $WER CONDUITS CUSTOMER
FURNISHED 11-0° AFF . ,
L EE ]
400 AMP 400 AMP 12 CEILING o5
RS
GND BAR
i [ Pwr PANEL | [AAP] , |
| 1
BATTERY
A/C RETURN
EYE WASHO
E
z N
ISSUE
b, 17
o
O
1l| AUXILIARY FRAMING AND CABLE RACK PLAN
) FIRST FLOOR
' MSL—100 CABINET T-S104-01-601
< UNIVERSITY OF ALABAMA
o 415 Hackberry Lane |
< TUSCALOOSA, AL SHEET DSS
g NEIRTEL
1
- NETWORKS | P 2 | 2




11/14,/2008

TABLE A
CEILING NO. OF LIGHTS NO. OF
OUTLET CKT. ESSENTIAL CONV.
NO. No. | RATNG | “50WeR >_0" | 4—0" | oUTLETS OTHER
MAP—0Q (VDU)
@ - 200W YES — — 4 POWERED BY INV-01
IN "MIS=00" BAY
DMS EQPT. LINE-UP
1 15A NO - 4 - A
2 | 15A NO - - 4 A
3 15A NO 1 2 - B
4 | 15A NO - - 4 B
5 15A NO 2 3 - C
6 15A NO - — 4 C
7 | 15A NO - 4 - D
8 | 15A NO ~ - 4 D

SHEET

T-S104-01-603

EST. NO. REV LTR REVISION ENG DRAFTED APPD DATE LIGHTING NOTES: NTl SPEC:
1. MODULAR LIGHTING UNITS FOR DMS FRAMES ARE INDICATED WITH
606303 A DELETED FUTURE BAYS ZONE BO4. JW OKON JW 3/1/85 DT O o A otd. CSUFFINES 00" "Dy
ETC, DENOTE SPECIFIC LIGHTING UNITS AS FOLLOWS: '
(REVISED) AC GND ISOLATION — LT FIXTURE ASSY’S.
J55023-0 B ADDED LIGHTS FOR NEW BAYS AT D06 & 07. JCF JOPLIN MLP 10/5/86 m%iiggg ((42,;23
NToxesn (aFT) DUMMY LIGHTING UNIT NTI SPEC:  NA
J55023-0 C ADDED LIGHTS AT CO7. MLP OKON MAC 12/8/88 2. EACH LIGHTING CIRCUIT DOES NOT EXCEED AN ULTIMATE CAPACITY E%CI)\!#FZROL GROUP#: NA
OF 12 AMP LOAD FOR EACH 15 OR 20 AMP, 120/208V SUPPLY #:
BRANCH CIRCUIT. DRAWINGS HAVE BEEN
H4E050 12 CONVERTED TO NORTEL STANDARDS COM NA NA 2/17/05 A. LINE CURRENT — .6 AMPS PER NTOX49AD—AE (2FT) LIGHTING UNIT. CONVERTED TO AUTOCAD
B. LINE CURRENT — .9 AMPS PER NTOX49AJ—AK (4FT) LIGHTING UNIT. 20001 IN A SINGLE FILE
C. LINE CURRENT — .33 AMPS PER NTOX49DU (2FT) LIGHTING UNIT. MULTIPLE LAYOUT
D. LINE CURRENT — .48 AMPS PER NTOX49DV (4FT) LIGHTING UNIT. FORMAT. REVISION ISSUE
5 END GUARD NOTES NUMBERS ARE THE SAME
" MODULAR LIGHTING UNIT CONTROL SWITCHES AND APPLIANCE OUTLETS FOR ALL DRAWINGS
FO FRA RE INDICATED WITH DESIGNAT SUCH AS D—DH,
D—%LI,)MESTC.R ¥HE§ PREFIX 25 DENOTES ASSEMBL\}OBEAW&JNG ADOXO7. DATE: 2/17/2005
SUFFIXES "DH", "DL”, ETC, DENOTE SPECIFIC AC HARDWARE AND ELEC—
IEIECV?%E[E)QUAIEM(EHS g%&%’?égWE%RDWARE FOR FRAME COMMON ASSY'S
FIRST FRAME WITH AC OUTLET coM s NA 12
NTOXO7DH O SWITCH WITH AC
NTOXO7DL 1 SWITCH WITH AC NTI SPEC: H4N721
NTOXO7DG 2 SWITCH WITH AC ‘
LAST FRAME WITH AC OUTLET TEO#:
NTOXO7DK O SWITCH WITH AC CONTROL GROUP#: D
NTOXO7DM 1 SWITCH WITH AC
NTOXO7DJ 2 SWITCH WIT: AC ADDED IPEC 00 AT A 07
FIRST FRAME WITHOUT AC OUTLET AND CALL PILOT NEXT TO
NTOXO7DB O SWITCH NO AC MMGP.
NTOXO7DE 1 SWITCH NO AC
NTOXO7DA 2 SWITCH NO AC DATEI 2/28/2005
LAST FRAME WITHOUT AC QUTLET
NTOXO7DD O SWITCH NO AC
NTOXO7DF 1 SWITCH NO AC
NTOXO7DC 2 gwng: mo ﬁc DMC BJJ NSTR 13
AC AROQUND COLUMN
NTOX07AZ NTI SPEC: H4S922
T~ Bact HOUNTED AC-QUTLET (TZEO?\Iﬁ:R OLN é RA ouPk: D
4. ALL AC CIRCUITS, CONDUITS, AND SQUARE-D DUCTS ARE IN ACCORDANCE ADDED 2ND MOD. &
WITH N.E.C. FOR SIZE AND NUMBER OF CONDUCTORS. BLOCKS FOR IPEC 11
5. NUMBERS IN PARENTHESIS ( ) INDICATE BRANCH CIRCUIT NUMBERS. iAl-iJI\::[()j %’A{B{%EO TAKD’__F.ROM
6. Q — DENOTES CEILING OUTLET BOX WITH ESSENTIAL POWER (SEE TABLE A). DATE: 2/10/2006
7. () - DENOTES CEILING OUTLET BOX WITH NON—ESSENTIAL POWER (SEE TABLE A). JLT JLT IML 14
NTI SPEC: H4S5366
8. [X] - DENOTES POWER POLE WITH ESSENTIAL POWER (SEE TABLE A).
" ( : TEO#:  N/A
CONTROL GROUP#: D
9. [[] - DENOTES POWER POLE WITH NON—ESSENTIAL POWER (SEE TABLE A).
ADDED MCAM 00 @ POS
W NG M EOO, PXAC 00 @ POS AA
10. H — DENOTES LOW INTENSITY LIGHTING MODULE. 04 AND MOVE MCSS 00
- FROM POS AA 04 TO
1. — DENOTES FRAME AISLE LIGHT SWITCH MOUNTED ON END GUARD OR F02.
LOW INTENSITY LIGHTING SWITCH MOUNTED ON WALL OR COLUMN.
DATE: 3/24/2006
JLT | oot | owme | 158
NTI SPEC: H45394
TEO#: N/A
CONTROL GROUP#: D
ADDED CLCE 11 @ POS
EO1 AND CMSS 00 @
POS AAO4.
DATE: 3/24/2006
JT | oot | ome | 16
NTI SPEC: H5E058
TEO#: 8D
CONTROL GROUP#: D
ADD CSF 00
COAM 00, PT2K 00
SPME 00 AND SPDC 00
DATE: 11/13/2008
MGF | MGF | 2401 | 17
@ ]5[ ISSUE
SCALE 1 7
TSCLALAUCGO 1/47=1'~0"
LIGHTING PLAN 0 2 4 6 8
IR
FIRST FLOOR nannEnnn
MSL—100 CABINET SCALE IN FEET
UNIVERSITY OF ALABAMA
415 Hackberry Lane S O O 603
S AL —
TUSCALOOSA, SREET DSS
NORTEL




11/14/2008

2

SHEET

T-S104-01-603

BEE

AR

EYE WASH(::)

12° CEILING
CCMIS
00
8’ CEILING
| %
PTR
00 s
78
z
gL
Hi oa
o0 01 02 03 04 0o 06 0/ 08
® Cl 4 .
H1
>
B-DV
—DL<:> D-DM
\ B-DG
,———— B-DG ——— _ B-DF
L<:> D-DK
~—  B-DV—m— B-DU N
> N
B-DV — B-DU —— S
DH<:> D-DM
B-DG N— B-DF ——
B-DG
_DL<:> D-DM
> B-DV
MCSS CMSS
00 01 l I I H30
>
400 AMP 400 AMP 12’ CEILING
[ PWR PANEL [ AaP ]
BATTERY
A/C RFTURN

i
t

{
i

DRWG
ISS

12

13

14

15

16

17

ISSUE

17

LIGHTING PLAN
FIRST FLOOR
MSL—100 CABINET
UNIVERSITY OF ALABAMA
415 Hackberry Lane
TUSCALOOSA,

AL

T-S104-01-603

NAIRTEL 5
NETWORKS

SHEETS

2

DSS




11/14/2008

TABLE

1

(TERMINATION OR SIZE OF LEAD) SEE NOTES:

(A)

/750,000 CM INSL

(B)

350,000 CM INSL

(©)

NO.

4/0 AWG INSL

(D)

NO.

2/0 AWG INSL

)

NO.

1/0 AWG INSL

(M)

NO.

2 AWG INSL

(&

NO.

4 AWG INSL

(H)

NO.

6 AWG INSL

(D)

NO.

10 AWG INSL

SHEET

T-S104-01-650

NTI SPEC: H5E058
TEO#: TBD
DATE: 11/13/2008

MGF | MGF | 2401 | 17

XXXX

GROUNDING SCHEMATIC

FIRST FLOOR

MSL—100 CABINET

UNIVERSITY OF ALABAMA

415 Hackberry Lane
TUSCALOOSA,

AL

@ — ISSUE
SCALE 17
1/4"=1"-0"

2 4

0
L Ll 1

|

NN

SCALE IN FEET

T-5104-01-650

N

ORTEL
NETW@RKS

6S

SHEETS

2

SHEET DSS

1




11/14/2008

N\ Y DRWG
17 ISS
o
| I
| %
0 X
PTR
MAP 00
00 g
() S
b Jlics T 2
£
BE . 32
> 01 02 03 04 05 06 0/ 08
B
TO-—MGB —
C |
AA @ He
H1
A
B
n
A
>
C
D
MCSS CMSS
E 00 01 I | I l H30
400 AMP 400 AMP 12 CEILING
GND BAR
[ PWR PANEL | [AAP]
BATTERY
A/C RETURN
EYE WASH<::>
E
(% N
ISSUE
o 17
LN
O
1_|_| GROUNDING SCHEMATIC
5 00 cagi T-S104-01-650
MSL—100 CABINET - - -
+ UNIVERSITY OF ALABAMA
& 415 Hackberry Lane
S TUSCALOOSA, AL SHEET DSS
) NQRTEL SHEETS
I S 2
u NETWORKS | © 2




